Intermediate 1 3B3 Prelim Revision


Q1.

Calculate the following

(a) 60% of £450

(b) 25% of £120

(c) 90% of £25
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Calculate the area of the shape shown.

Q3. 

Jonathon invested £3500 in his building society.  The offered a rate of 5.5%p.a.  Calculate how much interest he had gained after 3 years. Round your answer to the nearest 1p.
Q4.
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Q5.
A carton of juice measures 18 cm by 9 cm by 23 cm.




(a)  Calculate the volume of juice in a full carton.


(b)  Given 1 cm3 = 1 ml, how many litres 
      
does the carton hold?


Q6.

Aiden buys 6 bottles of juice in one store for £4.50.  In another store the same bottles of juice are being sold 8 bottles for £5.60.  Which store is offering the best deal?

Q7.
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Q8.
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Q9.
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50 cm





21 cm





30 cm





This music system costs £79.90 before VAT is added	


V.A.T. is charged at 17(5%.				 


(a) Calculate the V.A.T. Round your answer to the nearest 1p.





(b)  Calculate the price including V.A.T.	





Orange


Juice





 18 cm





 9 cm





23 cm





Sarah went into a clothes store that was having a sale.  


Before the items had been discounted in the sale the total cost of her shopping was £155.  


Calculate the sale cost of her new clothing.








On a diving expedition Stephen and Craig discover a rare coin.  When measured, its diameter was 2.5cm.





(a) Calculate the circumference of the coin





(b) Calculate the area of the face of the coin





7cm





15cm





7cm





Butter





Chelsea works in a supermarket, she has to unpack tubs of butter from a large cube shaped box with side 50cm.  The dimensions of the tubs of butter are shown.  Calculate how many tubs of butter she had to unpack.











